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\

«o»@

| il (’; —f_—a;é ;—’?‘F LL CLL:_L_):(- ‘é

Page: 8 of 9 | Words: 615 | <& English (U.S) | Eﬁl B E= 150% (-

ﬂl @,WFP_PE P“O‘ @_IBI 2 % ‘; jENI 97%

S
S

SO0 S

Made with Doceri



cpcalc final review ii.pdf Page 8 of 14
@] ﬂ L R |+ final review answers cpcalculus - Microsoft Word \ TableTools ‘ ENE2X]
Home Insert Page Layout References Mailings Review View Add-Ins Acrobat Design Layout A e

B & - = w5 v | B oabe [A]| 3= v 4=+ 4=v | S= 5= | talv | A )
‘_j 2 Times New Rom:z ~ 12 A A Aa %, % [A]| =~ = =E A 3l 9 AaBbCcDe | AaBbCcD: AaBbC(
Pajte 7 B 7 U ~abe x, X* [0\~ aby . A - A @ % EEE ré'] :Ev Qv TNormal |7 NoSpaci.. Headingl g?yal:sgve EdiEinQ
Clipboard Font Paragraph Styles [
e
(-3,2) 3
a)g(0)=9/2;g'(0)=1 |
b) max atx = 3 K‘J\
c)abs minatx = —4 ’ == \ »
d)POIx =-3,1,2 4. 1)
| (-5.-2)
Graph of f
The graph of the function f shown above consists of a semicircle and three line segments. Let g be the fur
givenby g(x) = I 2f(t)dt.
(a) Find g(0) and g’(0). El
(b) Find all values of x in the open interval (=5, 4) at which g attains a relative maximum. Justify your
answer. e
(¢) Find the absolute minimum value of g on the closed interval [-5, 4]. Justify your answer. ;
3
‘ | Craetec l;/:L L;g,):o.r —;LL\
Page: 8 of 9 | Words: 615 | Q} English (U.S.} l B == 150% (- /—Q-)
oW P IG > = o
Qstart @ (WI! 'P}[ P;'ﬂ ij;‘ ‘jl % X’ j NI 97% @ ﬂ) diﬂ] @ 6/123,8Z)M143

Made with Doceri



cpcalc final review ii.pdf Page 9 of 14

@] HH9- 0| final review answers cpcalculus - Microsoft Word ’ [TableTools ‘ = B 28
Home Insert Page Layout References Mailings Review View Add-Ins Acrobat Design Layout (A 0
&= ] Times NewRom: ~ 12~ A" A" | Aa~ % abe @ S v i= v 4oy | EE 5= | - Al qq % i)
:—j 23 - S A SR, ades el |ISHINES % AaBbCcDc | AaBbCcDc AaBbCi
Paste ¢ | B 7 U ~abe x, x| - -A-AQ@ EEs==s8 1= & ' fNormal |1 NoSpaci.. Headingl | Change Editing

Styles ~ 3

Clipboard I Font Styles

U)S\v) —77 4y, \vy)y—1

D&

_7)

ﬁ ‘< @raph of f

The graph of the function f shown above consists of a semicircle and three line segments. Let g be the fur

givenby g(x) = I;f(r)dt.

(a) Find g(0) and g"(0).

(b) Find all values of x in the open interval (-5, 4) at which g attains a relative maximum. Justify your [
answer.
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Graph of f

The graph of the function f shown above consists of a semicircle and three line segments. Let g be the function

givenby g(x) = I;f(r)dt.

(a) Find g(0) and g’(0).

(b) Find all values of x in the open interval (-5,4) at which g attains a relative maximum. Justify your
answer.
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(¢) Find the absolute minimum value of g on the closed interval [-5, 4]. Justify your answer.

(d) Fl}ld all \alues of x in the open m c.nal —‘5 4 at which the graph of g has a point of inflection.
G =1 0 o DNE ; §X)= opp sigh w
‘ | - Cregtocl it Lioce :'g‘

Page: 8 of 9 I Words: 615 | ¥  English (U.S) |
YSQAM

] G PEEIIEE RS do mmm e oo a0

Made with Doceri

«o»l}]




cpcalc final review ii.pdf

Page 11 of 14

@] Q L R |+ final review answers cpcalculus - Microsoft Word ’ TableTools ‘ ENE2X]
Home Insert Page Layout References Mailings Review View Add-Ins Acrobat Design Layout (A o
[ i -] AT - | @ ae Al IS iS eSSy | EESE | W (4| @ % o)
:_j 2 Times New Rom: ~ 12 ¥ o Aa J A J_] == a- S| A z AaBbCcDc | AaBbccdc AaBbCi .
Pajte ¥ B 7 U ~abe x, X* [0\~ aby . év A @ E = E = :Ev Qv TNormal |7 NoSpaci.. Headingl g?yal:sgve Edi’iing
Clipboard I Font P Paragraph = Styles [
&
a)g(0)=9/2;g'(0)=1 1
b)maxatx =3
¢ )abs minatx =—4 ' : >
d)POIx:—3,1,2 (4._|)
5,—2)
| Graph of f
The graph of the function f shown above consists of a semicircle and three line segments. Let g be the function
. X
givenby g(x) = J_;f(‘)d"
(a) Find g(0) and g’(0).
(b) Find all values of x in the open interval (-5,4) at which g attains a relative maximum. Justify your E
answer.
(¢) Find the absolute minimum value of ¢ on the closed interval [-5, 4]. Justify your answer.
(d) Find all values of x in the open interval (-5, 4) at which the graph of g has a point of inflection. ':‘\ ;
o0 e L %
‘ | i _Crogtachwith Docs S
Page: 8 of 9 | Words: 615 | Q} English (U.S.) | . T /—®
cs“'tl @l(m FP_7! P.-"‘l @ g |JI % ‘!’ ;I U o7 AG O al &5 6/12fZ)IB

Made with Doceri



cpcalc final review ii.pdf

Page 12 of 14

] H9-0|s final review answers cpcalculus - Microsoft Word l -TableTools ‘ o B R
Home ‘ Insert Page Layout References Mailings Review View Add-Ins Acrobat Design Layout (A} o
IR ¥ menewrom=[iz A" A7 | Asv (B Y [A]| = =~ | S8 | AR | % )
By g LN A a DA Al =002 A AaBbCcDc | AaBbCcDc AaBbCi
Pafte ¥ B 7 U-~-abex, x| A~P-A-ANB @E =E=EF = TNormal |17 MNoSpaci.. Headingl | _ gtr;algsgf Edltmg
Clipboard & Font I Paragraph * Styles )
i
a)g(0)=9/2;2'(0)=1 @ 1)
b)maxatx =3 &
c )abs minatx =—4 ’ \ »
d)POIx=-3,1,2 @&, -1)
| Graph of f
The graph of the function f shown above consists of a semicircle and three line segments. Let g be the function
) x
givenby g(x) = j-zf(t)dr.
(a) Find g(0) and g"(0).
(b) Find all values of x in the open interval (-5,4) at which g attains a relative maximum. Justify your B
answer,
(c) Fi Jld ljn a )olule ;mmmum value of } on the closed interval [-5, 4]. Justify your answer.
— ,_3 2_
(d) Fmd all \alu*s of x inthe opcnn terval —5 4) at which the graph of g has a point of inflection. Y
— / X
(C)=Dopp 3ign Wl §°6) =L7) N e
| = 3 Y ¥
< | =_Croatocbwitn Lioco TR
Page:8 of 9 | Words: 615 | ¥  English (U.S) | | = = 130% -
\ ‘ - ® & -l Ymm
o] & [W (P3P X T G R 3¢ 17 EEm e |f0 0 aG o

Made with Doceri



cpcalc final review ii.pdf Page 13 of 14

@] H Ly B AL final review answers cpcalculus - Microsoft Word ‘ ible l o R
Home Insert Page Layout References Mailings Review View Add-Ins Acrobat Design Layout (A e
—uj " mesNewRom-12 /A" A" | Aa- | % g [A] =-[EM]E EE T | aaBbcene | AaBbceDe AaBbCi % M
Pafte _; B 7 U ~abe x, X* [\~ A- &N @ %E— EEE) 2= ‘”TI Normal ] TNo Spaci.. Headingl — gryaI:sgf Edi‘iing
Clipboard & Font Paragraph = Styles p
, - &
(4]
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The graph of the function shown above consists of a semicircle and three line segments. Let ¢ be the function
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